
2 people are required

STEP 1.  Attach the “H” shaped Frame (B) to the top of the Main Frame (A) and 
fix it with 3 M8x40 Screws (F). Fix the other “H” shaped Frame to the bottom the 
same way.

1 of 2

STEP 2.  Screw 2 casters (E) into the bottom of each Side Frame (C) and 
tighten them securely.
Attach 1 side frame to the assembled main frame and secure it by using 4 
M8x40 screws (F) as shown. Fix the other side frame the same way.

ASSEMBLY INSTRUCTIONS
SMWMFD - Wood and Metal Floor Display
Parts List
A. Main Frame
B. “H” Frame
C. Side Frame
D. Countertop
E. Caster
F.  M8X40 Screw
G. M8X25 Screw

V21.02A B C D

E

QTY.
1
2
2
1
4
14
4

F

G



STEP 3.  Place the Countertop (D) on the assembled main 
body and secure it with 4 M8x25 Screws (G) as shown.

SM4HBB

SM16MWDH
SM16MDH

STEP 4.  Attach your accessories to the display stand. Insert the metal tabs on both sides into 
the slots at desired height, and push the attachment down to secure it in place. 
SM2WMSBHB, SM2WMSB will ONLY fit left or right on the Main Frame (A) as shown below; 
SM4HBB will ONLY fit the Side Frames (C) as shown.

To use hanger displays, assemble SM4HBB to the stand first, 
then attach the bracket to the hanger beam as shown below.

SM2WMSBHB

SM2WMSB

SM4HBB

SM4HBB

If you have any questions regarding our products, please visit us at www.displays2go.com or contact D2G customer service 844-221-3388. 
2 of 2

ASSEMBLY INSTRUCTIONS
SMWMFD - Wood and Metal Floor Display

Scan QR code to visit 
the product page:


